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‘Section A (30 x 2 marks)

tor each question, choose the most svitable answer and shade its
corresponding oval (1, 2, 3 or 4) in the optical response sheet.

-

1. The diagram below shows Gas X taken in and Gas Y given out by a

| HEERoon.

Gas Y p

Which of the foliowing shows the exchange of gases of a leafin a
hot ofte;rnoon?

- Gas X Gas Y
(H Oxygen .+~ Oxygen ., '
(2} Carbon dioxide Carbon dioxide |
(3) Carbon dioxide - Oxygen
(4} | Oxygen Carbon dioxide

2. The table below shows how so'me fruits can be grouped.

One seed Many seeds
Edible _ A B
Inedible C D

Which of the following represents a mango?

(1] A
(2) 8:
3) C
(4) O




3. Mary wanted to find out how lightaffects the growth of o plant. She
placed a pot of plant inside a cardboard box with an opening al

one side for a week as shown in the diagram below. The plant was
given enough water daily.

Which direction would the plant grow fowards after a week?

vAg
s

/

{4)

4, Thé_drowing below shows a plant growing on a fence.

K
£

Based on the drawing, which is true about the plant?

(1).This plant has fruit. -

(2] This plant has a weak stem.
(3} This plant has green leaves. '
{4} This plant has purple flowers;



5. The following chart gives information on four planis. Which plant
does not bear fruit and grows in water? '

Plants
Bears fruit Does not bear fruit
‘ [ } f ]
Walter plants Land plants Water plants Land plants -

(1)

{2)

(3

{4)

4. The graph below shows the amount of undigested food as it passes
through the digestive system. The letiers, A fo E, represents the
different parts of the digestive system. Letter A represents the mouth.

100

Amount of
undigested

food present 50 —

(units)

\

N

A B C

Which parts of the dfgesﬁve system_do C and E represent
respeciively? '

Part C Part E
(1) Stomach -~ Large intesiine
(2) Stomach ~ Small intestine

{3

Small intestine

Smaill intestine

(4]

Small intestine

Large intestine




Study the-labigsbelow and answer questions, 7 and 8, that follow.

Johﬁsw&mt@dfalnm estigatddhe gr@v\ﬁﬂ%ﬁ@m@f{ﬁfe&n{, types. of boc.’reﬂ@
cells over 80 minutes. After every 20 minutes, he measured the area |
occupied by the bacteria cells (in cm?® } under the microscope and

recorded the resulls in the table below.

'A_rea of

Time Area of’ Area of Areda of
(in minutes) | Bacteria Cells | Bacteria Cells | Bacteria Cells | Bacteria Celis
Afincm?} . B (incm?) C (incm?) D (in cm?)
0. 5 1 5 5. 5.
. 20 5 5B 5 15
40 5 20 ~ -20. - 20°
60 10 40: 30. - 25
80 20 601 25 25

7. Which bacterial cells took the longest time to occupy 20°cr]?

{1} Bacterial cells A:
{2} Bacterial cells B

{3} Bacterial cells C
(4) Bacterial cells DI

8. Which variable did John change in his investigation?

{1} The lime in minutes, .
(2) The type of bacteiia celis
(3} The number of bacteria cells
(4) The area occupied by the bocferial cells ’




9. Study the animdl and the chart below.

Has more than 6 legs

f

Covered
by shell

{
(Al

which letter, A, B, C or D represents the animal?

{1 A
(2)8
(31C
(4D

Animal
|
Has 6 legs

l 1 : | |

Covered Covered Covered

by scales by shell by scales

- ] |

. {8} (C} o))

- 10. Four similar slices of moist bread are leff in different locafions for a

week. In which of the foliowing locations would the slice of moist
bread not turn mouldy?

Location

(1)

tn a dark room

(2) By an open window
(3] By an oven
{(4) In a freezer




1 1. Four different set-ups are shown below.

Which two set-ups should be compared to find out if roots are
needed for the growth of the planit?

(1) Set-ups, A and B only
{2) Set-ups, C and D only
(3] Sei-ups, B and C only
(4) Set-ups, A and D only



12. Amy placed two plants, Plant X and Plant Y. info two beakers
containing blue-coloured water and tap water respectively as
shown in the sel-ups below. She left the plants in the beaker for five
days.

Plant Y

beaker
N

Blue-coloured |-
water

beaker
™S

Tap water —=<zz=

Plant X and Plant Y were cut at their stems on the fifth day.
Which of the following diagrams show the cross-sections of the
sterns of Plant X and Plant Y on the fifth day?

1 (1) (2}
o O o O
') o)

Plant X Plant Y Piant X Plant Y

(3) (4)

O O O O
o © o ©
0 O

- PlantX  PlantY PlantX  Plant Y

Key: @ Blue coloured
o Not coloured




13. Observe the ﬂow chart below.

Has scales Yes , Lays eggs | Yes | A
No
No Y
B
Yes '
Layseggs |— C
No
Y

o |

Based on the flow chart, which of the following statements is correct?

(1} A and C lay eggs.

{2} B and D tay eggs.

(3] C and D have scales. :

(4} A and B do not have scales:

14. Tom grouped the following together. Which item was wrongly
- grouped?

g e 2R

Basketball Go|dﬁsh | ocet Toofhbrush
(1 | (2} (3} _ (4]




Study the information below and answer the questions, 15 and 14, that
follow.

Candy observed the characteristics of different types of flowers that
attracted ditferent animals in her garden. The table below shows the
characterstics of the flowers and the animals attracted.

Animals Characterdistics of the flowers
attracted
. Size Colour Scent
Butterfly Small Bright red Sweef
Bee Small Purple Sweet
Bird Large Bright yellow Sweet

“Theflow charf below classifies the different ﬂowers A, B C,DandE,
according o their characteristics.

Hassmall | yes Has a bright | Yes
> . L A
flowers? colour?
No
A 4
No
8
h 4

Has a bright Yes
colour?

4
O

No

r .

Has a sweef Yes
scent?

v
Q

No

L 4

&

15. Which animal(s) will be attracted to flower A?

(1) Butterfly only

(2) 8ird and Butterfly only

(3} Bee and Butterily only

{4) Bee, Bird and Butterfly only

10




16, Animal X is attracted to large and dull coloured flowers. Which

flowers could the animal be attracted {o?

. (1) Aand 8 only
. (2} 8 and C only:

17.

(3jCand D only:
(4) Dand Eonty-

Peter wanted to find out if the riumber of seeds would affect. their
growth in a pof. He planted some seeds into three similar pofs, X, Y
and Z. The condlitions for each pot are given below.

Conditions Pot X . PotY PotZ
Number of seeds 10 15 - 20"
Amount of water 100m| 150ml 200ml

Ti/pe of soil Garden Garden Garden
Location of pofs Field -Field Field

The experiment was not a fair test. Explain why.

{1} The location of each pot should be different. |

(2] The type of soil in each pot should be different. _

{3) The number of seeds in each pot shouid be the same."

(4) The amount of water given to each pot should be the same.

18. The leaves of arain tree close in the evening and open during the

day. Which characteristic of living things does this show?

(1) Living things die. -

(2} Living things reproduce. ~,

(3) Living things need air, water and food: -
(4} Living things respond to their surounding.




19. Sam sels up four beakers as shoWn below. In which beaker will the

snail die first?

Dead leaf water

A

VP MR
. S| ()
=] I AN\

(1) {2)

sealed

———

—

(3)

Wire mesh

SIS S e S

20. Amy placed different number of similar marbles into four different
containers, E, F, G and H, The diagram below shows whaf she
observed when the four containers were placed into a tank of

water.

container

How many marbles did Amy place in container G?

(115
(2} 8
(3) 1
(4) 13

12




21.Susan grouped some animais into two groups as shown in the chart
below.

Animals
Group X Group Y
Ostrich : Goat
Eagle | Whale
Penguin Platypus

How are the animals grouped?

‘ Group X T Group Y
(1} Animal eater Plant eater | | l
(2) OQuter covering of feathers Outer covering of hair - i
| {3) Live on land Live in water
(4) Lay eggs Give birth fo young

13



22.Amy wanted {o find out the properties of four different liquids, P, Q, R

and S. The liquids did not mix when they were poured together, as
shown below.

Which diagram shows what happens when all the liquids are mixed
fogether?

. ; -

23. Andrew wants to classify animals according fo their type of body.
What factors should he consider before classifying the animals?

(1) The food they eat.

(2) The way they move.

{3) The way they reproduce.
{4) The number of body parts.

14




24, Study the animals below carefulty.

//[

Ant

Which of fhe following classification charts can be used to classify

these animals?

Living Things

-

Living Things

Live on fand

Live in water

2legs 4legs
{1}
. Living Things
" Give birth Lay eggs

3

15

(2)

Living Things

With

wings

Without
wings




25.Which of the fo[lbwing about saliva is/are true?

A: Sdlivais a liquid. -

B: Saliva helps to soften food.

C: Safiva makes food easier to swallow. -
D: Sdaliva helps to digest food in the mouth. .

(1) D only
(2) C and D only

{3} B. C and D only

{4)A.B.Cand D

26.Which of the following shows the cormrect path in which air fravels
from the surroundings into the body?

(1} Nose ~— gullet— lungs -
(2} Nose — gullet— hearf -
(3] Nose — windpipe— lungs
(4} Nose — windpipe— heart

27. Study the classification chart below.

Fruits

Big

Round

I

Waiermelon

]

Long

Papaya

Small

I

Round

|

Grape

Long

Groundnufs

Based on the classification table only, which of the following is true?

{1} Papayais big and juicy.
{2} Grape is small and round. -

(3] Groundnut is smail and fasty.
{4} Watermelon is sweet and juicy.




28 A toddler is served a hot drink in a plastic cup msteod of a ceramic
cup. Which statement best explains the situation’

Hoft dri_nl; in a
plastic cup

(1) The plastic cup is bigger than the ceramic Cup.

(2) The ceramic cup is harder than the plastic cup.

(3) The ptastic cup is transparent but the ceramic cupisnof.
(4) The ceramic cup is easily broken while the plastic cup is not.!

29. Four different materials of the equal volume are soaked in a
beaker of water for 3 minutes. The bar graph below shows the

amount of wafer absorbed by the mo’renals Wthh materdal is most
_ suitable for making a bath fowel?

Amount of
water absorbed
- {(ml)

<Y

N
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Material
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30.The fable below shows some properties of four materdals, A, B, C and

D.
| Property A B C D
Bends easily? Yes No No Yes
Breaks easily when dropped? Yes Yes No No
Can see cleary through it? Yes Yes No No

Which material is the most suitable for making spectacle lenses?

(1} A
(2) 8
31 C
(4D

18
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Seclion B (40 marks)

Write your answers in the space provided.

31. Jimmy sef up four jars, A, B, C and D. as shown below.

=
Rl

-2 T
SLRn Tk

lid with holes <

AR i

_fid without

holes
grasshopper water grasshopper
A B '
lid without M "'ln" lid with holes
holes
grasshopper water gtasshopper

a} Which two jars should Jimmy use fo find out if a grasshopper needs

water to survive? N -~ {Im]}

" b} Which two jars should Jimmy use fo find out if a grasshopper needs
_air fo survive? ] ' " (1my

20




32. Study the flow charf below. P, Q, R, S. T and U represent different

animails,
Animals
= . Yes
Does it live in Yes | Doesithave > P
water? | gitis?
: No
NO - 2 4
J. " Q
Does it have y
hair? e R
No
Y )
Can it fly? Yes Doesit have Yes J s
teathers?
‘NO Nd__
U ¥
T

a} What is the difference between the animals, S and 72 {1m)

b)_ Which of the animals, P, Q, R, S.1 or U represents a fish?  {1m)

R Bq_se_d_ on the chart above, ékbl_gin youranswerin {b}.  (Im}

.
-

d) Name one common characieristic between the animals, R and .
(1m]

21



33. The diagram below shows a human sysfem.

Organ B

(a) Name organ A and organ B,

Organ A:

Organ B: .

(b} Whatis the main function of this sysfem?

(1m)

(Tm}

22




34.The diagram below shows the movement of some substances in
tubes found in a plant and the different parts of the plant.

roots

(a} Identify the fubes by wrifing Tube P or fube Q, in the boxes below,

| {TIm}.
.Jdube Fuaction
|) Carries water
i) Carries food

(b) The plant did not receive water for many days. What changes in the
) leaves can be observed before the plant die? - (lm)

{c} Explain your answer in (b},

23



35. The flowchart below shows the processes occurring in the human

digestive system. Tnie-is anerer ini the flowehast.:

Ffood —| FOOdIs

enters

Organ A Organ B Organ C
__ | Muscles ) Digesiion
chewed into contract to completed
smalier pieces move food
along _ J, '
Organ D
E Food s
i Organ E churned and
T X / digesied
‘Removal of " #---------"1 ¢om the
X : FhReEyEstEd
"""""""""""" f&EE.

(a) Rearrange the organs in the correct order in the digesfive system.

Organ
A

@
(i)

{im)
| Organ || OrgRn Organ Otgan
|
(b} ldentify the organs below.  (im)

Qrgan B
C
Organ Eil

(1m]

(c) X is removed from Organ £. What is X?

{d) Name the organ in the digestive sysfe

transter to other parts of the body?

-

m thal absorbs nufrién’rs for

(1m}

24

o«




36. The diagram below shows the plants in a pond.

cattail

water lily

Complete the table below.

(3m) -
Plants .
-Water Plants ' Land Plants-
- - Partially Submerged | Flowering Non-flowering
' submerged Planfs Plants Plants .
o : .Plants. ',.? -

Water hyacinth

25




37.

b

The table below shows the characteristics of 4 differe:it mammals.

It has a beak.

It has hair.

It lays eggs.

It feeds its young with milk.

Based on the chafacteris_tics given in the table above, what can

Mammal H be?

ab

Characteristics | Mammal | Mammal | Mammal ;| Mammal
. E K G H
| Has hair yes yes yes yes
Lays eggs no no . 0o yes
Feeds its young yes yes yes yes
with milk '
Has a beak no - no no yes
From the table above, tick (v') the statement(s) that best
~ describe(s) a mammal. (2m)

(1l m)




Look at the diagrams below carefully.,

bracket fungus bird’s nest fem

Based on what you caa see in the diagrams, write one similarity and one
difference between the two living things. ‘
(Do not compare colour, shape and size.) . ' (2m)

Sumularity :

Differeace :

7



39. Meiling carried out an experiment in the Science laboratory with 4
stalks of roses cut from the same plant. She sprayed chemicais P, Q,
R and $ on each flower and recorded the results of her experment

in the table below.

Variables Beaker | Beaker | Beaker | Beaker

A B C D

Number of stalks of roses 1 i 1 l

Type of chemicdl P Q R S

Amount of water (ml) 400 400 400 400

Number of days the roses stayed 7 5 6 3

fresh

{a) What was Meiling trying to find out from her experimeny?

(1m)

(b) Did Méiling conduct a tair te5i? Give a reasbn for Y(f‘).UFd;nS‘Wef: -

(1m}

variables which she must keep the same.

~ ot S ToEr et ame e N .t . T, T (> N
- - {c) Besides Using bedkers similar in sizé and material, staté twd othe

(tm)

28




* 40. The graph below shows Peter's heartbeat rate over a period of 60
minutes.

No. of heartbeédt
per minute

F 3
140—
120" -
100t -l meedeneme P
80—-_—_ "‘-""‘E"""‘_; _____ ::- ----- :f-___l
O R
s oo b
20- i i b
Ot 1] -
10 20 30 40 50 &0 Time {minutes)
{a) Describe Peter's hearibeaf rgte in the first 30 minutes. (1)
(l:ﬂ Whatis\Peter's hearibeat rate at the 20t minute? (Im]}

29



41. Shaun was given three leaves to identify with the help of the

classification chart below.
| Leaves

Simple E Compound
7 |
1 7 1 1
Net Parallel Toothed Entire
veins veins edge , edge
1 L 1 i
Frangi Pandi " Hiedi Totti

Observe the three leaves carefully and help Shaun fo identify them as
Frangi, Pandi, Hiedi or Totti. {3m)

(b} Leaf Qx: r

{c) Lleaf R: ¢

30




42. Classify the following things info systems or non-systems in the
boxes below.

,. ETE
telephone :
seanorse newspaper
{a} Complete the classification chart below. (2m})
Things
|
System ) Non-sysfem
_ T : — [
L ]

(b) The picture of a cyclist on a bicycle is shown below. The cyciist riding

on the bicycle is a system where different parts work together for the
bicycle to move.

cyclist

chain

What will happen if the chain is removed? - . (Im]

3l



43. Mary conducied an experiment with the materials, W, X, Y and Z, as

described below.
She placed a sheet of material over a beaker and added some

weights over if unfil it broke.

i \\:\

beaker

The table below shows the results of her experirhenf.

Materials Maximum weight it can hold
W 40kg
X ' 20kg
Y 130kg
L 0kg

(d) Amange the materials according fo their sirength from the strongest
to the weakest. (1m]}

-

. [B}Mary wanted o make a stool to support the weight of an adult.

which material, W, X, Y or Z is most suitable for making the stool?
(Im]

(¢} Give a reason for your cgsWer in (b). (1Tm]}

~

32




44. The hardness of different matedals is shown below. A higher
value means a higher degree of hardness.

Hardness
value

A
(74
RN
th

Material

£
-

]
7]
e

Based on the above information; state whether each of the following
statements is ‘True’, ‘False’ or ‘Not possible to tell’. Put a tick (Y} in the

correct column. ' (2m}
Statement True False Not
possible
2 | fotell

a) Sis able to leave d scratch on R

bj R can cause deeper scratches
on P than 1.

c} Sis asironger material than Q.

1 dj Ris the best material to be used
to make a shower sponge.

i3






Answer

1/ ~.
EXAM PAPER 2010

SCHOOL : TAO NAN PRIMARY
SUBJECT : PRIMARY 3 SCIENCE

TERM : SA2

QL | Q2|03 | Q4105106107108 [Q9(Qi0j0111Q12)|1Q13]Q14|Q15]Q16|C17

3 1 2 2 3 1 1 2 1 4 1 1 1 2 1 4 4

Q181 01910201021 1022 | Q23 | Q24 [ Q25| Q26 [ Q27| Q28 Q29 Q30

4 3 2 2 3 4 4 4 3 2 4 3 |2

31)a)Jars B and C. b)JarsAand C

32)a)Animals have feathers but animal I does not have.
b)Animal P.
c)It lives in water and it have gilis.
d)They do not live in water.

33)a)A: wind pipe. B: fungs.
b)When you breath in, you take in oxygen and carbon dioxide come out of you
lungs.

34)a)i)tube Q iji)tube P
b)The leaves will dry up.
c)The leaves does not have water for the plant to make food.

35)a)A>B>D>C>E
b)i) gullet ii)large intestine
c)X is water
d)Small intestine.

36)float cattail water Lily hydrilla  ------- mass

37)a)It has hair, 1t feeds its young with milk
b)Mammal H can be a platypus

38)Similarity: They grow on anything dead or alive.
Difference: Bird's nest fern has leaves while bracket fungus has no leaves.

39)a)Meiling was trying to find out which chemical is the best for the roses to stay
fresh the longer.
b)Yes. There is only one changed variables in her experiment.
c)i)Number of stalls of roses.
ii)Amount of water. A page 1o 2 page 1



Answer Key


40)a)It increase.
b)Peter's hear beat rate is at 100.

41)a)Tott
b)Hiedi
c)Frangi
42)a)System Non-system
Telephone newspaper
Seahorse key
Violin '

b)The cyclist will not be able to pedal the bicycle.

43)a)Y,Z,W,X
b)Y

¢)Material Y is the strongest amoung the others.

44)a)T b)F c)Not d)Not
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